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» Sentence Completion 3 tevei:

Directions: Complete the sentence using the word or set of words for each blank that best fits the
meaning of the sentence as a whole.

1. Purpleandredare . 6. Men and women are
A. numbers A. children
B. colors B. adults
C. streets C. languages
D. men D. foods
2. Five and seventyare __ . 7. Boys and girls are
A. numbers A. children
B. songs B. vegetables
C. signs C. numbers
D. letters D. women
3. Apples and bananas are 8. English and Japanese are
A. countries A. cities
B. sports B. streets
C. Ian_guages C. languages
D. fruits D. places
4. Carrotsandpeasare . 9. Berlin and Havana are
A. sports A. numbers
B. vegetables B. cities
C. meats C. languages
D. colors D. colors
5. Milk and waterare __ . 10.Dogs and cats are
A. fopds A. streets
B. drinks B. children
C. languages C. numbers
D. cities D. pets



Answers and Explanations

1) B
Purple and red are colors. Choice (B) is correct.

(A) is incorrect because purple and red are not numbers.
(C) is incorrect because purple and red are not streets.
(D) is incorrect because purple and red are not men.

2) A

Five and seventy are numbers. Choice (A) is correct.

(B) is incorrect because five and seventy are not songs.
(C) is incorrect because five and seventy are not signs.
(D) is incorrect because five and seventy are not letters.
3) D

Apples and bananas are fruits. Choice (D) is correct.

(A) is incorrect because apples and bananas are not
countries.

(B) is incorrect because apples and bananas are not
sports.

(C) is incorrect because apples and bananas are not
languages.

g:)arro?s and peas are vegetables. Choice (B) is correct.
(A) is incorrect because carrots and peas are not sports.
(C) is incorrect because carrots and peas are not meats.
(D) is incorrect because carrots and peas are not colors.
5 B

Milk and water are drinks. Choice (B) is correct.

(A) is incorrect because milk and water are not foods.

(C) is incorrect because milk and water are not languages.

(D) is incorrect because milk and water are not cities.

6) B
Men and women are adults. Choice (B) is correct.

(A) is incorrect because men and women are not children.
(C) is incorrect because men and women are not languages.
(D) is incorrect because men and women are not foods.

7 A

Boys and girls are children. Choice (A) is correct.

(B) is incorrect because boys and girls are not vegetables.
(C) is incorrect because boys and girls are not numbers.

(D) is incorrect because boys and girls are not women.

8) C

English and Japanese are languages. Choice (C) is correct.

(A) is incorrect because English and Japanese are not
cities.

(B) is incorrect because English and Japanese are not
streets.

(D) is incorrect because English and Japanese are not
places.

9) B
Berlin and Havana are cities. Choice (B) is correct.

(A\) is incorrect because Berlin and Havana are not
numbers.

(C) is incorrect because Berlin and Havana are not
languages.

(D) is incorrect because Berlin and Havana are not colors.
10) D

Dogs and cats are pets. Choice (D) is correct.

(A) is incorrect because dogs and cats are not streets.

(B) is incorrect because dogs and cats are not children.

(C) is incorrect because dogs and cats are not numbers.



